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ONjtSeraiad dAt| 59,040
ONtSeaiad A2l 1,300
OTHOHCHZ W2 =2l 1,520
oMY MSAIE ZdXE AN 750,000 750,000
308 AHXIHMSO0IA 750,000 750,000
13 SI[2S0He 4 A AS A 750,000 750,000
OE4oIEAY WEAS ZHANBAL(RE
HIZEXIH) 750,000
=Jtotd & Xgotd =2 17,126,000 10,526,000 6,600,000
= 390,000
[ 11,106,000
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02 S3=4gl 30,000 30,000 0
OXtg 2tel, o8 A 832 S 30,000
202 04| 2,000 2,000
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01 Al&HI 198,000 318,000 A120,000
OotE MY SN2 S 198,000
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Octe MY FAE+ S 2,000
S3|d XUt A (HEAL) 15,200,000 9,500,000 5,700,000
=S 10,640,000
Al 4,560,000
401 Al HIZ R 0HbI 15,200,000 9,500,000 5,700,000
== 10,640,000
Al 4,560,000
01 Al&H| 14,198,000 8,998,000 5,200,000
O=3ld Xlgote HdIArY 14,198,000
& 9,938,600
Al 4,259,400
02 Zeltl 1,000,000 500,000 500,000
O=2d Xgotd FHIA 1,000,000
= 700,000
Al 300,000
03 Al 20HHI 2,000 2,000 0
O=32ld Xgotd EHIA 2,000
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2I16HA (212 ) RAES 160,000 165,000 25,000
= 160,000
401 AIEHIZL 28I 160,000 165,000 25,000
= 160,000
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O=0t6td (e+E2) |FX2= 160,000
= 160,000
Neotd FAE=AY 840,000 200,000 640,000
& 420,000
Al 420,000
401 AlEHIZ 20| 840,000 200,000 640,000
= 420,000
Al 420,000
01 Al&HI 840,000 200,000 640,000
OXgotd SAE=At 840,000
= 420,000
Al 420,000
ot Ald=2 FYUHMEH 20,000 100,000 280,000
& 6,000
Al 14,000
401 AIEHIZ 28I 20,000 100,000 280,000
= 6,000
Al 14,000
01 AlEHI 20,000 100,000 80,000
Odtd A2 HUME (AN ILA
) 20,000
= 6,000
Al 14,000
NS YRS F0IHCH ALY 40,000 0 40,000
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401 Al&HIZ 20| 40,000 0 40,000
= 40,000
01 AlEHI 40,000 0 40,000
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OSLSAMEHZY W 0ol s0lAE 4
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= 35,080
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2ot FAIE2 200,000 200,000 0
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01 Al&H| 1,999,000 1,999,000
O=4tAotd FHIAE 1,999,000
03 AIZ2THYI 1,000 1,000 0
OSetAotd AL 1,000
)| A0HE ADIE HS2ACIAAE 70,000 0 70,000
[ 35,000
Al 35,000
401 AIEHIZ SR 0HYI 70,000 0 70,000
= 35,000
Al 35,000
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Al 21,049
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= 35,080
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TLAGHE SHEEZ HEA (E 004 100,000 100,000
401 AIEHIZ SR OHYI 100,000 100,000
01 Al&HI 100,000 100,000
O7&Aold otdetd HE ALY 100,000
LIAIE S ot 2l 7,490,300 11,163,870 A3,673,570
= 2,828,000
== 1,154,820
Al 3,507,480
THoH IS AHECHEI 1,707,200 1,285,670 421,530
< 15,000
Al 1,692,200
201 er23| 1,111,500 1,021,000 90,500
01 At2tltl 323,800 3,600 320,200
OgMAIZ 2] ANFE2E R HRFH S 3,600
OS=MolZLIEHEAIAE RAI2d 52,000
OXNZRIEEASI| 72l 12,000
Obfi+=8Zd MI|otd 2| Xt &= 8 O
(600 4) 230,000
Obf=BIZ MI|QtM 2L TS 2==2 (5H
~) 11,200
O4BIE ASAIE RIS 242 4,000
OBTAWSBEIE o LI +42(11H
) 11,000
2 352484l 787,700 1,017,400 A229,700
OMHLTHAIE SARQB(CCTV, HBEAE S
3lHg) 70,000
OMHUZEAIE FXI2telHI(CCTV, 2LEH
s) 20,000
OAEXE FA2ell 2,000
OMULHAIE QB (HSBEE, 2
MNEX 8) 550,000
Obfi=8Z& MIIotM FHIIZA 2,000
Otf=BZd IS =3 (6012) 30,000
Otf==8od NI 21 JHHD| =58 6,700
OYMAIEE KRXZIHI(OIH, &HII S) 40,000
OYgMAIEE RX2HI(AE, ES &) 23,000
OAEZ S23Hl, 22l S(HxE & =F) 20,000
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OBH+BIE 3|0l HEIA ++2(7THL) 2,000
OMSHLTHAIE atoteE 23 (1104) 2,000
SENBAL B Y =4 20,000
202 01| 6.000 6.000
01 20| 6.000 6.000
OgTHAIL 2| HLE(LHAILE, T
COREAE S) 6.000
206 M= 7,000 7,000
01 =8I 7,000 7,000
OgMAIEE RIE+E I 2 SO
&I 8) 7,000
305 HHAISS 10,000 10,000
01 a2 S 10,000 10,000
OZTHAIES 281 &ofitiara 10,000
401 AIEHIZL 201 568,700 232,670 336,030
= 15,000
Al 553,700
01 Al&bI 566,500 231,000 335,500
OZEH HISBER 9 A FUIHEA
S (AN WA 50,000
= 15,000
Al 35,000
OZEH HSBEH =5 HYI| DI SA 200,000
Obi+BIE DAL IHSAGHH 20H
=BV 130,000
OZEH H+BEY LSHI S53C 8
e 110,000
OUO*XHAME* 29 - BRlAILE HH(ARIS)
8- IP) 08 &X 46,500
O HIZE2AIAE 018 SA 15,000
SEMFE +SHSBI DA AL
Lhe2, 89) 15,000
03 Al&=CHY 2,200 1,670 530
OLTAILS 24 FATA 2,200
405 RHAHE S| 4,000 9,000 A5,000
01 XAt 2 Z 5 S| 4,000 9,000 ~5,000
ORSMBE(LI22, 2Y) &dIja Y| 7
ol 4,000
Foxe guxE 24 15,700 13,500 2,200
== 2,800
Al 12,900
301 YPHEESZ 9,400 6.000 3,400
= 2,800
Al 6,600
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14 IIEt2 8= 9,400 6,000 3,400
OZ Al =2 o228 XS 9,400
= 2,800
Al 6.600
307 @20l & 6,300 7,500 1,200
02 QA HAIEE X 6,300 7,500 1,200
OZ Al NG IES M 23 6,300
KA MBS S 92,000 19,000 73,000
201 2= 91,000 18,000 73,000
01 AtR2t2lt] 54,000 16,000 38,000
OXM =N S 5,000
OMETNS e HBERESS 9,000
OR0U<? stutae SHHEXE X2 5,000
O3 &Y 36,000
2 Ss52g4l 35,000 0 35,000
OXRJNIZEAIAE KX2el 35,000
03 Ar=EHI 2,000 2,000 0
OS=oll & XN& XAy 3 &3 =4 2,000
202 04t 1,000 1,000
01 =LHOHI 1,000 1,000
OXSN =N S 1,000
THHRAE XA HB (A E2KI 7 SZ ALK ZHIALY) 1,058,000 2,600,000 1,542,000
[ 529,000
= 211,600
Al 317,400
401 AIZHIX S0 1,058,000 2,600,000 1,542,000
[ 529,000
= 211,600
Al 317,400
01 Al&H| 1,056,000 2,598,000 1,542,000
OA82X7 SZ A ZHIALE 1,056,000
= 529,000
< 211,600
Al 315,400
03 Al 2CHYI 2,000 2,000 0
OA82X7 SZ A HHIALE 2,000
oA XAEB(SS7X 7 SSALK FHIAIY) 1,360,000 1,400,000 40,000
[ 680,000
= 272,000
Al 408,000
401 Al HIZ S 0HbI 1,360,000 1,400,000 240,000
= 680,000
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< 272,000
Al 408,000
01 Al&H| 1,356,000 1,398,000 242,000
SSTA T ST AKX ZHIAS 1,356,000
= 680,000
< 272,000
Al 404,000
03 Al 20HHI 4,000 2,000 2,000
SS7A T ST AKX ZHIAIS 4,000
Mo IS X AZYI(SF2X 7 KAt IEHARI T & 958,000 1,600,000 A\642,000
HIAM)
[ 479,000
= 191,600
Al 287,400
401 AlEHIZ 2018 958,000 1,600,000 A642,000
= 479,000
< 191,600
Al 287,400
01 Al&H| 956,000 1,597,000 641,000
SE2 NSNS X7 HHIALS 956,000
= 479,000
== 191,600
Al 285,400
03 Al 20HHI 2,000 3,000 21,000
O5&2 MHAMoH ISR+ HEIA Al
=R auls] 2,000
oI XS FHI(MEIXIT SZ ALK FHIAY) 130,000 1,400,000 21,270,000
[ 65,000
= 26,000
Al 39,000
401 AlEHIZ 2018 130,000 1,400,000 A1,270,000
= 65,000
[ 26,000
Al 39,000
01 Al&H| 129,000 1,397,000 21,268,000
OME SZAK ZHIAY 129,000
= 65,000
== 26,000
Al 38,000
03 Al 20HHI 1,000 3,000 /2,000
OME SZAHK SHIAIY A2 204 1,000
oA XAFH (24X 7 SZ ALK ZHIAY) 450,000 450,000 0
= 225,000
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< 90,000
Al 135,000
401 Al HIZL 01| 450,000 450,000 0
= 225,000
== 90,000
Al 135,000
01 Al&H| 449,000 447,000 2,000
Os4t SZAK XFAIY 449,000
= 225,000
=S 90,000
Al 134,000
03 Al 20HHI 1,000 3,000 22,000
Os4t SZAK XIFAY 1,000
THOHRIE XIS B (CHERI 7 SZ2 AKX ZHIAKY) 600,000 100,000 500,000
= 300,000
< 120,000
Al 180,000
401 Al HIZL S 0HYI 600,000 100,000 500,000
= 300,000
=S 120,000
Al 180,000
01 AlZ8| 598,000 99,000 499,000
OUE X7 SZ ALK HHIAIS 598,000
[ 300,000
= 120,000
Al 178,000
03 Al 20HHI 2,000 1,000 1,000
OUX7 SFAK SHIA 2,000
THAH LI XIS EHI (012X 7 =ZAK ZHIA) 1,100,000 100,000 1,000,000
s 550,000
s 220,000
Al 330,000
401 AIEHIZ SR HYI 1,100,000 100,000 1,000,000
[ 550,000
= 220,000
Al 330,000
01 A28l 1,098,000 99,000 999,000
OOIFXI7 SZAA FHIALE 1,098,000
[ 550,000
= 220,000
Al 328,000
03 AIZSTHYI 2,000 1,000 1,000
OOIFXI7 SZAA FHIALE 2,000
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SUALE HL(002) X 19,400 15,700 3,700
= 5,820
Al 13,580
201 er2 3| 19,400 15,700 3,700
= 5,820
Al 13,580
02 S3=gHl 19,400 15,700 3,700
ORO<iEd dgoi(uozd) 832 Xd 19,400
s 5,820
Al 13,580
AT Ol & THE 269,250 166,800 102,450
Ar2 THER Ol 263,850 161,400 102,450
201 er23 | 215,500 13,500 202,000
01 At2t2ltl 215,500 13,500 202,000
OAR2IT 2t 23| 4,500
OstiiuE 2aAltAa 25 30,000
OUXNEIe ==AS AL 2| SHS
=Al2el 181,000
202 04| 5,000 5,000
01 =LHO LI 5,000 5,000
OABITHE A AR (WY FE S) 5,000
307 elztol & 22,750 22,300 450
04 CIZHHAMAMH 2 & 22,750 22,300 450
OZ Al 2IEA2 0 MttiEl 2801 &
g 3ozl 9,050
Odet=T ASALU MU A8)lss
g 3=l 1,100
ON795=0| =X SAUUHE =22 9,100
O2024 S ASAYH SHUF A 3,500
308 AXIMSO0IA 20,600 20,600
18 SIS0t HAS A 20,600 20,600
OARE ASZS(CHS0ISAE ) HIIAE
rEH 20,600
A2l TS 5,400 5,400 0
201 223 5,400 5,400
01 At22t2lt] 5,400 5,400
Ot H=E 2 JHISUH S 5,400
A THoH Ol & otd 2te| 2,989,100 4,001,100 A1,012,000
= 1,400,000
< 568,000
Al 1,021,100
ZEHH erd &g 87,000 87,000
201 2egh=3| 7,000 7,000 0
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02 S5=g4l 7,000 7,000 0
OZSNTANE S8Q= S 2,000
O=FEMTAIE FAl2cld] 5,000
401 Al HIZ S 0HYI 80,000 80,000
01 AlZ28| 80,000 80,000
OZZENZAIE EXAME 80,000
Mol == 102,100 102,100 0
< 8,000
Al 94,100
201 er23| 4,500 4,500
01 At2teltl 4,500 4,500
O =X dRFd 4,500
202 0o4dl 1,600 1,600
01 =LHOHI 1,600 1,600
OXAMtSHRE RFH 1,600
206 M=l 20,000 20,000
01 M= HI 20,000 20,000
O=gTH 7 20,000
302 012 M2 &= 20,000 20,000
02 2RI S HES243 20,000 20,000
OAIRAIE MHXIES X8 20,000
307 elztol & 16,000 16,000 0
= 8,000
Al 8,000
06 28= 16,000 16,000 0
OZ=oi28= 16,000
s 8,000
Al 8,000
401 Al HIZL S 0HYI 40,000 40,000
01 Al&HI 40,000 40,000
OXtATHol AtANY & S=S5-7 40,000
TEAF S=olf D ZHIAY 2,800,000 3,012,000 A212,000
= 1,400,000
[ 560,000
Al 840,000
401 Al HIZL 201 2,800,000 3,012,000 A212,000
s 1,400,000
== 560,000
Al 840,000
01 Al&HI 2,798,000 3,010,000 A212,000
O7YX7 Saoff 423 A 2,798,000
= 1,400,000
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< 560,000
Al 838,000
03 Al 2 0HHI 2,000 2,000 0
OFZX 7 Saol S22 I 2,000
ANEE otd 2| 199,000 185,600 43,400
ANEE otE 2 109,000 5,600 103,400
201 etz 3| 9,000 2,400 6,600
01 At 2|l 9,000 2,400 6,600
OrsHuEH dH+d 9,000
401 Al HIZL S 0HYI 100,000 0 100,000
01 Al&HI 100,000 0 100,000
OMoi?IE+= JHIAI 100,000
ANEZS AEIEZA & HEEH 90,000 150,000 260,000
401 AlEHIZ 201 90,000 150,000 260,000
01 Al&H| 90,000 150,000 60,000
020242 NSSAIE= AEHEMN 89 90,000
SCHIHOH O 2t 96,000 26,000 70,000
SUHaHoE 2tel 96,000 26,000 70,000
201 fer= 3| 92,000 22,000 70,000
01 At 2t 12,000 22,000 10,000
OSUMaHHY gF=X 2,000
OSUMaiHY a8 de 29 10,000
2 s5=g4l 80,000 0 80,000
OSHUMal Biaxe SH(EE) It 80,000
202 04dl 4,000 4,000
01 =LHOHI 4,000 4,000
OSUMaHY gF=N 4,000
g 24 1,132,404 1,065,692 66,712
= 7,422
== 7,311
Al 1,117,671
glgtel =2g2 1,132,404 1,065,692 66,712
= 7,422
= 7,311
Al 1,117,671
g s - 28 2 AIEEE| 22 96,669 106,832 210,163
= 5,692
= 3,55
Al 87,421
201 fer23y| 68,367 87,998 A19,631
= 1,257
= 453
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Al 34,500
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05 2ItRIE = 1,734,500 1,864,823 /130,323
OS8us+t 24| 1,338,500
Jl 495,600
Al 842,900
OSgus=sH 2 st 2 39,000
) 192,000
Al 204,000
A2 SEusSst 238 X2 627,000 0 627,000
= 313,500
Al 313,500
307 212+01& 627,000 0 627,000
= 313,500
Al 313,500
05 2ItRIE = 627,000 0 627,000
OAlz SEuS+H 24| 627,000




A nSHEL
g e #llEt Clean nSetd X4
ol HEusS AdlA e (Cre|: ®M2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 313,500
Al 313,500
NaHA s28 AIEHE A 90,000 90,000 0
= 27,000
Al 63,000
401 AIEHIX R0 90,000 90,000 0
=S 27,000
Al 63,000
01 AlZ28| 90,000 90,000 0
OXN&HA s2& AL At 90,000
< 27,000
Al 63,000
LdEWSIHE A OtelXl K& 98,000 29,200 68,800
= 49,000
Al 49,000
308 AtXIEMSOIE 98,000 29,200 68,800
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307 @I2t01 & 622,470 562,520 59,950
& 157,500
Al 464,970
02 2B HAHE L 66,720 16,770 49,950
OX=ZH2AAAS| WSHMMAL X2 1,760
OZ LR HEAl SAHES XI&H 6,800
Oz ZE2&A UI=Hl N2 47,400
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S 26,591
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OMEts SEE2dH =gl & 42,000
BA2YIEE2C| AIAE 2= 14,775 18,557 N3,782
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